How Does a Rodeo Star Get Around?
T 1

ny First, SIMPLIFY each expression below. Then EVALUATE the expression for ) 4
“ the given value of the variable. Find the simplified expression in the answer "

X column and notice the letter next to it. Find the value of the expression at the X
“ bottom of the page and write this letter below it. .
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|

@ 5x + 3
@9-—2(4)(-*-5) if x= -4 @ ~—10y — 11
©—7X-—8(9—-7x) If x=—1 @ -y + 21
@6(3’("1)'—-10){ if x=7 g 14x — 27
13y + 15
(5) 7-4x+2(5x +8) if x=—2 Q 27y -1
(®) 7x-46-x)+12 ifx=6 ® 10x - 24
(7) —3(4x—1)+9x +8x ifx=-9 (W) 22y + 24 _
6x + 23
0 100-(2y—-6)—y ify=8 @
@ 15y + 18
@4(3+7y)+6(2—-y) ify=2 @ —3y + 16
9(2y —4)—2(7y —12) ify=-9 (A) —8x—1
(-3y—1)—-(6—-95y) ify=-6 @ Hx—12

D
y — 12
2(7+6_V)+15(—1+y) if y = ® y

@ 8x — 6

(~9y +5)—=8(-y—2) ify=-3
—(5y - 6) +4(3+5y) ify=2

11 1 54 |—48]| 50 | 26 | 31 | 49 24 —42| 48 | —41
S’
ALGEBRA WITH PIZZAZZ OBJECTIVE 3-e: To simplify and evaluate
26 © Creative Publications expressions containing parentheses.
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_ . p— ‘ DIRECTIONS: Simplify any ex;iaression geiaxg, Fi&d yourd -
~ answer in one of the answer columns and notice the wor

/X + ASK'N(’ ] to it. Write the word in the box above that has the same letter

L 98x ~ 30 FOOTBALLG as that exercise. '

| 4 KEEP WORKING AND YOU WILL HEAR ABOUT SOMETHING

x —18 COULD | ALL WET!

33x - 14 THE]  ® 5x —7(2 ~ 4x) @ 4x — 7(3 - 3x) - 9 .

442 + 16 AS ® 8 - 3(6 — 6x) ®-8+6(x-3)+4x  [-40a +17 WATER|

B s 08 HIS © 9a — 4(2a + 5) @ —2a + 7 — 3(-9 — 4a) —{on + 35 THE

133._27 TO —3"8(“53”1) ~1 + %a — 9(72 + 5a) i—3n —14 HE |

——— ®-7n +4(6+3n) @oBn-9—7-2n 48 — 10 ROOKIE

— ®-8@2n-4)+5 ®-4(5 +n)+n +6 re——
$4a — 13_FUMBLE] 102 +34_ WITH |
————— O2px+6-% O m-2Awm+9-x 5 ool
|40a + 37 BALI ®-5-7-30-7 ©5-81-x) - X s B

@ 4(-2a +6) +a W -a +7+5(4 + 7a) ~16n + 37 KEPT |

 —48n 16 FLOOD @ 4 — 9(3 o a) @ *6("‘“63 - 3) S Ba .
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40a +5 PLAYER]  (®) -8 - 8(6n + 1) W 4n - 5n + 3(n + 4)

~48n — 88 UNDER | 57 +n)—-7n X7 +9(2n +9) + 1 -2x — 26 FIELD




